UNOVICS ENC www.UNOVICS.co.kr

PAV—S NEOPRENE MOUNT

SHOE TYPEE

=HEe £Y

- Yozl 1Rt HZAMmIOZ 0[RHE
SEfo|ct,

- Aol ¥
LIS A0 Z5HT slES bt
THX|Q] HMHE T EQOIEF

— Hoio| 22 HH 20| Sliding Shoe 2F BIH| AX[SICY,

rH=Ee 74

- Aot HZAm

- CR Y= =

_%E

HEel Ex
- S| AT YRR

R

L enneerg v

PAV-S JHELZE AX| &M= PAV—=S—15~200 Series PAV—S-250~600 Series

= HZ2l At

MRSI=
wED| 2 27 ox H8SE L S c c 42 BOLT
2 [kdf]
PAV-S-15 ®15 |  OR-1006080 200 150 100 8 117 - 75 MIO@
PAV-S20 020 | OR-1006030 200 150 100 & 17 - 75 MIO
PAV-S25 025 | CR-1006030 200 50 100 80 17 - 75 MIO@
VS 0% | OR1006030 200 150 100 & 17 - 75 MIO
PAV-S-40 ©40 | CR-1006030 200 50 100 80 17 - 75 MI0@
PAV-S-50 050 | CR100:600 200 150 100 & 17 - 75 MIO
PAV-S-65 065 | CR-1006030 200 150 100 8 117 - 75 MIO@
PA-S-80 080 | CR100:500 200 80 100 105 147 - 100 M1
PAV-S100 2100 | CRI00G0E0 200 180 100 105 147 - 100 MI0
PAV-S 125 0125 | CRI00G0:30 200 80 100 105 147 - 100 M1
PAV=S150 ©150 | CR-100100@0__| 400 180 100 105 147 - 100 MIOe
PAV=S-200 0200 | CR100x100G0 | 400 180 100 105 147 - 100 M1
PAV-S-250 0250 | CRI6x5080 | 900 | 2% 150 105 197 120 100 MI0xd
PAV=S-300 0300 | CR16x5080 | 900 | 230 150 105 197 120 100 MIOxd
PAV-S-350 0350 | CR2005030 | 1200 | 250 | 200 155 | 219 140 150 MI0xd
PAV-S-400 0400 | CR200<50@0 | 1200 | 250 | 200 155 | 219 140 50 MiOxd
PAV-S—450 0450 | CR25000030 | 2000 | 300 | 250 155 | 250 | 200 150 MI0xd
PAV=S500 ©500 | CR250:0080 | 2000 | 300 | 250 155 | 250 | 200 50 MO
PAV-S-550 0550 | CRA00C00A0 | 2400 | 300 | 300 155 | 250 | 250 150 MI0xd
PAV-S-600 ©600 | CR-300:0030 | 2400 | 300 | 300 155 | 250 | 250 50 MIOxd
¥ 2 HZ0| 77 2 HHS M5 U BIHNS s AKER| g0l BHE & UgLict

66



UNOVICS ENC KS = 1S09001 -15S014001 |N\IOBIZ®KSA@\(&£‘/

PAV—=U NEOPRENE MOUNT

U-BOLT TYPEE IHHI 7mm

» ROl 54

- Hemd uRet BZHEHOZ 0|R0T

et S sozt
KN KN - Allfe| 9 ZQSHAHELO| LHALN LIS A

t
LIRMof| Z5ta 5152 B2 Al BHelE 7mm
THX|9] HHHQAS 712l =Ho|ct,
— U-BOLT SLOT HOLES 72510 S1%F Al2A 4

_—
[
o
v
»
b
i
N
i
s
£
b
.
-

i
L=_; I [ .. MX|7t Z0latch
PAV-U ZHEHZI AR M= = ®Zo| 2M
. o L . - Maiio] By
CRUZEAWE _ CR HIQE% -\_J-HE
HZZd H=(eT)
c - e
A1

I W LD

PAV-U Section

= HE2l At

MBS

S

—
—

=
PAV-U-15 015 CR-100x50x30 200 130 90 6 130 90 6 42 48 M10x2
PAV=U-20 @20 CR=100x50x30 200 130 90 6 130 90 6 42 48 M10x2
PAV-U-25 @25 CR-100x50x30 200 130 100 6 130 100 6 42 48 M10x2
PAV-U-32 32 CR=100x50x30 200 130 100 6 130 100 6 42 48 M10x2
PAV—U—40 @40 CR-100x50x30 200 130 100 6 130 100 6 42 48 M10x2
PAV=U-50 @50 CR=100x50x30 200 130 100 9 130 100 6 45 @l M10x2
PAV-U-65 065 CR-100x50x30 200 135 100 9 135 100 6 45 51 M10x2
PAV=U-80 @80 CR=100x50x30 200 140 100 9 140 100 6 45 51 M10x2
PAV—U-100 ©100 CR-100x50x30 200 165 100 9 140 100 6 45 51 M10x2
PAV-U-125 0125 CR-100x50x30 200 190 100 9 160 100 6 45 ol M10x2
PAV—U-150 @150 CR-100x100x30 400 220 100 9 170 100 6 45 51 M10x2
PAV-U-200 @200 CR-100x100x30 400 270 100 9 200 100 6 45 51 M10x2
PAV—U-250 @250 CR-150x150x30 900 330 150 9 250 150 6 45 51 M10x4
PAV-U-300 @300 CR-150x150x30 900 380 150 9 300 150 6 45 51 M10x4
PAV—U-350 @350 CR=200x150x30 1200 420 150 9 340 150 6 45 51 M10x4
PAV-U-400 @400 CR-200x150x30 1200 470 200 9 380 200 6 45 51 M10x4
PAV=U-450 @450 CR=250x200x30 2000 520 200 9 400 200 6 45 51 M10x4
PAV-U-500 @500 CR=250x200x30 2000 580 200 12 400 200 6 48 54 M10x4
PAV-U-550 @550 CR=300x200x30 2400 630 200 12 400 200 6 48 54 M10x4
PAV-U-600 @600 CR=300x200x30 2400 690 200 12 400 200 6 48 54 M10x4
PAV—U-650 @650 CR=300x250x30 3000 730 250 12 400 250 6 48 54 M10x4
PAV—U-700 @700 CR=300x250x30 3000 780 250 12 450 250 6 48 54 M10x4
PAV=U-750 @750 CR=300x250x30 3000 830 250 12 450 250 6 48 54 M10x4
PAV-U-800 @800 CR=350x300x30 4200 880 300 16 500 300 8 54 60 M10x4
PAV-U-850 @850 CR=350x300x30 4200 930 300 16 500 300 8 54 60 M10x4
PAV-U-900 @900 CR=350x350x30 4900 980 350 16 500 350 8 54 60 M10x4
PAV=U-950 0950 CR-350x350x30 4900 1030 | 350 16 550 350 8 54 60 M10x4
PAV-U-1000 | @1000 | CR-400x350x30 5600 1080 | 350 19 550 350 8 57 63 M10x4
PAV-U-1050 | @1050 | CR-400x350x30 5600 1130 | 350 19 600 350 8 57 63 M10x4
PAV—U-1100 | ©1100 | CR-450x400x30 7200 1180 | 400 19 600 400 8 57 63 M10x4
PAV-U-1150 | @1150 | CR-450x400x30 7200 1230 | 400 22 650 400 8 60 66 M10x4
PAV=U-1200 | ©1200 | CR-500x450x30 9000 1280 | 450 22 700 450 8 60 66 M10x4

x 2 HZe| 72 U B42 45 U BHNS sl ATISK Q| HaE 4 YgLc.

67



